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Solution 

μ = 4.3, σ2 = 1.96, and σ = (1.96)0.5 = 1.4 

z = (x – μ) / σ = (x – 4.3) / 1.4 

For P (X ≤ 5), we find z = (5 – 4.3) / 1.4 = 0.70 / 1.4 = 1 / 2 = 0.50 

From the table P (X ≤ 5) = 0.6915 

 

P (2.8 ≤ X ≤ 5.5) = P (X ≤ 5.5) - P (X ≤ 2.8) 

For P (X ≤ 5.5), we find z = (5.5 – 4.3) / 1.4 = 1.20 / 1.4 = 0.857 
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From the Standard Normal Table, we have values for 0.850 (= 0.8023) and 0.860 

(= 0.8051). To find the value for 0.857 we need to interpolate. 

 

51 – 23 = 28, so 7(28/10) = 19.6. Thus 0.857 (=0.8023 + 0.0019 = 0.8042) 

Resulting in P (X ≤ 5.5) = 0.8042 

For P (X ≤ 2.8), we find z = (2.8 – 4.3) / 1.4 = - 1.50 / 1.4 = - 1.071 

We can either use a table that has negative values or use symmetry properties 

and the current table 

  

We have values for -1.07 (= 0.1423) and -1.08 (= 0.1401). However, -1.071 is 

extremely close to -1.071 and we can use 0.1423, but because this case involves 

negative values let us do it for practice. 

01 – 23 = - 22, so 1(- 22/10) = -2.2. Thus – 1.701 (0.1423 – 0.0022 = 0.14208~ 

0.1421) 

P (2.8 ≤ X ≤ 5.5) = P (X ≤ 5.5) - P (X ≤ 2.8) = 0.857 – 0.1421 = 0.7149 

What about P (X ≥ 4.3)? Note that 4.3 is the same mean value and because of the 

symmetry we have P (X ≥ 4.3) = P (X ≤ 4.3) = 0.50 

 

 

 


